
Решить неравенство  
𝐥𝐨𝐠𝟏𝟔𝒙+𝟗𝟏𝟐 𝟑𝟔𝟏

𝐥𝐨𝐠𝟏𝟔𝒙+𝟗𝟏𝟐(−𝟑𝟔𝟏𝒙)
≥  

𝟏

𝐥𝐨𝐠𝟏𝟗( 𝐥𝐨𝐠 𝟏
𝟑𝟏
𝟑𝟏𝒙)

 

Решение: 

ограничения: 

{
  
 

  
 

16𝑥+912 > 0
16𝑥+912 ≠ 1

log16𝑥+912(− 361𝑥) ≠ 0

−361𝑥 > 0
log19( log 1

31

31𝑥) ≠ 0

log 1

31

31𝑥 > 0

   ⇔ 

{
 
 

 
 

𝑥 ∈ 𝑅
𝑥 ≠ −912

𝑥 ≠ −
1

361

𝑥 < 0
𝑥 ≠ −1
−𝑥 > 0

 

𝒙𝝐(−∞;−𝟗𝟏𝟐) ∪ (−𝟗𝟏𝟐;−𝟏) ∪ (−𝟏;−
𝟏

𝟑𝟔𝟏
) ∪ (−

𝟏

𝟑𝟔𝟏
; 𝟎) 

log−361𝑥 361 ≥  
1

log19 (log 1
31
(
1
31
)
−𝑥

)

         

   
log361 361

log361(361 ∙ (−𝑥))
≥  

1

log19(−𝑥)
  

1

log361 361 + log361(−𝑥)
≥  

1

log19(−𝑥)
 

1

1+ log192(−𝑥)
≥  

1

log19(−𝑥)
 

1

1+
1
2
log19(−𝑥)

≥  
1

log19(−𝑥)
 

2

2+ log19(−𝑥)
≥  

1

log19(−𝑥)
 

2 log19(−𝑥) − 2 − log19(−𝑥)

(2+ log19(−𝑥)) ∙ log19(−𝑥)
≥ 0 

log19(−𝑥) − 2

(2+ log19(−𝑥)) ∙ log19(−𝑥)
≥ 0 

 



log19(−𝑥) − log19 19
2

(−log1919
−2+ log19(−𝑥)) ∙ (log19(−𝑥) − log19 1)

≥ 0 

−𝑥 − 361

(−𝑥 −
1
361

) (−𝑥 − 1)
≥ 0 

𝑥 + 361

(𝑥 +
1
361

) (𝑥 + 1)
≤ 0 

решаем методом интервалов, нули: − 361;−1;−
1

361
 

−−−[−361] + + + (−1) − − − (−
1

361
) + ++> 𝑥 

𝑥 ∈ (−∞;−361] ∪ (−1;−
1

361
) 

учитывая ограничения, получаем  

Ответ: 𝒙 ∈ (−∞;−𝟗𝟏𝟐) ∪ (−𝟗𝟏𝟐;−𝟑𝟔𝟏] ∪ (−𝟏;−
𝟏

𝟑𝟔𝟏
) 

 

 

 формулы:  

𝑙𝑜𝑔𝑎𝑏

𝑙𝑜𝑔𝑎𝑐
= 𝑙𝑜𝑔𝑐𝑏;     𝑙𝑜𝑔𝑎𝑥

𝑛 = 𝑛𝑙𝑜𝑔𝑎𝑥 

𝑙𝑜𝑔𝑎1 = 0;    𝑙𝑜𝑔𝑎(𝑥𝑦) = 𝑙𝑜𝑔𝑎𝑥 + 𝑙𝑜𝑔𝑎𝑦       

 

 

 

 

 

 



 

 

 

 

 

 

 

 


